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SAMPLE PAPER 6: PAPER 2

QUESTION 9 (70 MARKS)

Question 9 (a)

(i |0C|=10cm
|OC|=|0D|+|DF|+|FE|+|EC]|
~10=3+a+b+5
a+b=2

(ii) Triangles OAF and CBF are similar because:
|£0AF|=|£FBC| (90° angles)
|AOFA| = |ABF C | (Vertically opposite)
~.|£40OF|=|£BCF|

iy |BCI_|FCl 5 _b+s
|OA| |OF| 3 a+3
S5a+15=3b+15

S5a=3b

_sa
3
a+b=2

b

a+5?a=2:>3a+5a=6

8a=6
S.a=0.75 cm

_5(0.75)

=b =1.25 cm

(iv) |4B|=|4F|+|FB|
AAOF :|OF|" = |04 +|AF[
375 =32 4 |4F|
|AF| :m =2.25cm
AFBC:|FC| =|BC| +|FB|
©.6.25" =5 +|FB[
|FB|= V625 —5* =3.75 ecm

.|4B|=2.25+3.75=6 cm
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Question 9 (b)
i £(0,5)
F(0, 6.25)
D(0, 7)
0(0, 10)
() ¢ :x*+(y-101*=9
c,:x +y° =25 S 4
5 4
iii) tanf=——-=—
) 375 3 0 - -

(iv) |£FCB|=180°-90° -0 =(90° -0)
.| £BCP|=90°—(90° —0) =6

sinezﬁz—:y_4
cos0=£=§:>x=3
5 5
B3, 4)
(v) Slope of BC =% y—4d=-3(x-3)
Slope of tangent ¢ =~ 4y-16=-3x+9

Equation of #: m=-2, (x,, )=, 4) 3x+4y-25=0
V) ¢ :x*+(y-10)> =9
f3x14y—25=0= x= 22

2
.-‘(25_”] +(y=10)> =9
3
625-200y+16)°
9
625200y +16y> +9y* —180y+900—81=0
252 ~380y+1444 =0
(57 —38)(5y—38) =0
. y:ﬁ
Ly=2
L2546 9
3 5
A2,

525

y*=20y+100-9=0

viD) 4(-2, %), BG, 4
|4B|= 3+’ +(4-%)* =6




